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BB REASS R LT

ZESNER LR

9.1 FEZSWIA ML B e A THIRRR A
A(2,3,4); B(1,2,-1); C(-2,2,2); D(2,
-2,-2),

B OB 4. B.C DR, WTLIE 9.1 fF
ISP EL S A R R bt XS L DR,

B’ 9.1
9.2 47 T A4 RUALE B R BR AL



D(-5,0,3)s E(3,2,0); F(0,0,0),

B oAfexBit, BEYHI Ly CAEyoz ¥R Ly D
7t x0z £ by EfE x0y ¥ ks FREA.

9.3 RMBEBHES (2,-3;,-1) A5 HFT
s Y i

(a) x0y; (b) y0z; (c) z0x
1) PR AL B,

B (a) (2,-3,1)s5 (b)) (-2,-3,-1)
(¢) (2,3,-1),

9.4 RBBEM (2,-3,-1) HHUMKT TS
7y

(a) =%y (b)) yals (o) z I AR A,

B (a) (2,3,1); (b)) (=2,-3,1)
(e) (-2,3,-1).

9.5 K@M (1,2,2) M (-1, 0, 1) MMWE
. .

R AAZAESEESAR, &

IABI =\/("‘2"‘xl)z+ (Yo=Yt (2;—2,)°
=4/(-1-1)+(0-2)2+(1-2)°
=4+ 4+1
=3,

9.6 KK A4, -3, 5)BIBEREANE & MK
FE B,
B ADRERIE IR
[04]=4/C4 —0) + (=3 -0):+(5 -0)=54/2.
R AR x BhBEEH
d,=a/(4 —4)*+(-3-0)2+(5 - 0)'=4/34,




AT Y BAIEE N
d,=2/(24 =00 +C(=3)=(=~3)1+(5 - 0)?
=4/41, '
HAF] Z AR
d,=+/ (4 -0)+(-3-0)+(5-5)% =5,
9.7 RWiAHA(2,5,0), BAL3,8), C(5,
1L, 1D = MIB & Nin K, '
R UA4BIMKN
[AB|=4/(11-2)%+ (3 - 5)2+ (8 — 0)2=4/149.
dlACIHIK N
[AC] =4/(5 = 2)%+ (1 ~ 5)%+ (11— 0 )*=4/146.
i BClIfIK N .
IBCl=4/(5 —11)*+ (1 ~ 3)%+ (11— 8)*= 7,
9.8 WIEL M A4(4,1,9), BQO,—-1,6),C(2,
4, )HBRMEZMIBRSEL M= M.
iE HAIAMBSERARN, H
|AB] =4/ (10— 4)*+ (=1 -1)"+(6 ~9)=7,
JAC =4/(2 — 4)*+ (4~ 1)2+ (3 - 9)i=7,
IBC|=4/(2 -10)*+(4 = (= 1))+ (3 - 6)¢
. =7472.
o |4B} =]4Cl =17,
i

|4B|*+ | AC|*=|BC|? =98,
LUA4BC RERMAM=ME. :

9.9 RUBRTFI&MR A B KR EAHR:

(1) AC4,-7,1), B(6,2,2), |4B}=11;
(2) A(2,3,4), B(x,~-2,4), |4B|=5,



B WFARERAR, B

|AB| =4/(6 — 407 +02 — (=70 +(z — 1) =11,
TR (6 —-4)+0(2-(~-7)P+(z-1)*=121,
il (z-1)"=36,

8 2,=7, z,=~5,

(2) HIAAIEEAR, H
|4Bl=/(x = 2) + (- 2 - 3):+(4 - 4)?=5_
TR (X -2)%+(-2-3)%+ (4~ 4)2=25,

il (x ~2)=0,

it x=2,

9.10 ZEzMERSHA(~-4,1,7)MEB(3,5,
~-2) HEHEMLSC. ' :
B mTFchE-HE, HERZEECHRBIFENC,O,
z), HEEMEARERAR, H

l4c|={Bcl,
B
VEO = (=) +(0 - 1)+ (z - 7)°
=a/(0-3)2+(0—-5)+Lz—-(-2)) ,
B 16+ 1 +(2-7)*=9 +25+(z + 2)?,
s 14
%15’ 2=—-9—.

B cmmine( 0,0, 14),

8.1 Z’EyOZSFEFkJKEJ‘E/I‘B%Uﬁ'\A(S,fif.ﬂ;"
B(4,-2,-2), C(0,5, 1)KEEYAED,

W T DAE yO: EHA, B LR KD A R Y
(0,7,2), Eﬁﬁﬁfﬂ'ﬁﬁfﬁ]iﬁﬁ’z}?&, B



|4D| =1BD| =|CD],
B A
O =3)E (Y = 1)+ (z - 2)F
=a/(0 = 4)°+0(Y = (= 2))+(z —(- 2)35%

V0 — 32+ (Y —1)'+(z —2)°
=A/(0 - 0)3+ (Y -5)2+(z — 1),
B, 18
3y+4z:_5’

4y-z=¢,

#ig Yy=1, z=-2,

UM DA D(O, 1, - 2),

9.12 ¥ M, (0,- 1, 3)Ffi M.(2, 3, ~ 4)[FAILLE
RAZHL, Ry E B,

B OBRB MM,
W&ﬁ'}ﬁ 5}5‘5']%1 P,(x,,
Yis Zy) %ﬂpz(xz’yzy z;)
CinEg 9.2 BiR).

TR

M,P,
P\M,

FIRZ S SAR, &

1
0 +—x
2 2
xl=———-—=—,

1 3
1+
2



P.M,
0+2x 2 A
Xp= o — = s
1+2 3
o 1+2x3 5
: 1+2 3°
3+2(-4) -5
Ty = e IS e
1+ 2 3
P SLBTR I 4) 55 A2 kR 9

2 1 2 4 5 5
AR A O !
9.13 W=MIBIBIAR 4(2,5,0),B(11,3,8),
C(5,1,12), REDLEMK,
2 & BC, CA. ABRHEARIAD, E, F,
3381 0 SR L 7 /N W <

11+ 5
u=__2__=8, -
1+3
,/:——:2—%: 2’
12+ 8
Pt :-————_‘_...-.=10’



BSRA3D (8, 2,10, FHWLREFSIFHAH A

7 13
E(—Z_’ 3,6), F(z, 4 4)
FIRBEAREBRAR,
|AD] =4/(8 = 202+ (2 - 5)*+(10-0)* = 4/145 ,

IBEI=\/<~%—~—11>2 +(3—3)24+(6 — 8)?

=lJ241 ,

[CF| = \/l—— 5 2 +(4—-1)*+(4 -12)2

= -—«/301 .

ﬂlﬂ:ﬁﬁ‘iﬂ’l HKP LMK 5
—2-\/301 , 145, -é—«/24_1.

XRR¥HE

9.14 7eV{3M3t J ABCD i, ¥ 4B =a, 4D =b,
WHaMbERREMA, MB, MCRIMD, XE M2

R RAIA S

R hEREMEZER, §
W= - a+b), MB=(a-b),
Ho=Laasm, MD=-—(a-b),

8.15 ABCDEF R—IENMFE, oREHHL, M
R4, S .
| (1) o4, 0B, 0C, 0D, OE, OFy -




(2) 4B, BC, CD, DE, EF;

(3) FE, ED, DC, CB, BA

He, BRes RHIS KB TRAER

MR KT
R (D) FREATR

SRR A,
HAIMBRWEES:
045 0D, OB 5 OE ,

Bl 0C & OF .
(2) AERBHPBEHM
HFHRHE.,
HEAMBEMRERA.
4B 5 DE, BC 5 EF.
(3) AR BA T UA R,
HARBEBREEA,

B4 5 ED, ©B 5 FE,
8.16 —AKBHEREESAB(2, - 1,7), EAELE
HERMBENKRRE4, —4M7, KX A RZRBE KA

-3

LT
ﬁ .!&E}ﬁ/’("s Yy 2)y TR
2 -x=4, :
-1-y=-4,
7—-z=T7,

Ak X=—=-2, ¥Y=3, =90,
RPETREMAA(-2,3,0)
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_9-17 E%]A(4,1,3), B(Z,—5,1), C(3’

7,-5). REMLKR 4B, BA, 4AC, CBHERIREE
B2V

B OREAK

MM, =(x,—x)i+(y,-y)i+(z,-z)k

;ﬁ‘
AB =(2 - 4)i+(-5-13j+(1 - 3)k
= ~2i-6j—2k,
BA =2i+6j+2k,
AC =(3 - 4)i+(7 - 1)j+(-5 - 3)k
:_i+6j—'8k,

CB =(2-3)i+(=5-7)j+(1~(-5)k
= —i-12j+6k,
9.18 LXK a, bFYMAFHTASA W ETHRX
=3\
(1) |la+bl=]a-b|;
(2) la+b|=lal+|b|;
(3) la+b|=]a]-|bj;
(4) |la-b| =1a)+1b|;
a b
Taf “TBT
B (1) a bIMEH;
(2) a, bIjirHikls
(3) JrlM i H ) a] > |bl;
(4) FIHIBL ' '

(3)
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(5) JyiHiE, : :
9.19 HEWE M, (2, 5,—3)$HM2(3,—2 5),

BAE MM, E— A M ,!ﬁMxM =3 MMz , :RKEE oMY

b,
®EY )
_M|M = A - 3’
MM, .
F L PR S VY A 2 2T 4 4 A (8607, B
_2+3x3 1
1+ 3 4’
S5+3(=-2) 1
1+3 4’
4 ?-hs j- __:}_X_S = 3
1+3

:FﬂﬁMﬂéﬁiﬁM(l“lv - —i" 3 )’ ﬂ.ﬂﬁ,&'i!‘iéﬁﬁ 0(0, 0,
0), HEMLKE OM MIMLHN

—= 1 1
oM = {T—O’ -5 05 3—0}

-5 - )
9.20 CHAWKE
=6i—4j+ 10k, b=3i+4j-9k, -
WoR: (1) a+2b, (2) sa-2b,
B (1) BXH
a+2b=(6i-4j+10k) + 2 (3i+ 47— 9k)
=12i + 47 - 8k,
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Fitla+2b=12i+4j-8k,

(2) BEX

3a—-2b= 3 (6i—4j+10k) - 2 (3i+4j-9k)
=12i - 20j + 48k,

Rk 3a-zb=12i-20j+ 48k,

—_— - — %

9.21 B&2EHWIAA4BC, Kif. BC + CA + AB =0,
i OREEREMEITEM, A7

BC + C4 = B4,

— —

X BA=— 4B,
it LA BC+ CA =— AB,
i5h: BC+ CA + AB =0,

9.22 fEiE/Ni ABCDEF'h, B/l AB =a,BC=b

iXfla, bR Lx"EcCD, DE, EF, F4, AC,

AD, AE,

#® cD=b-a, DE =-a, EF =-b,
FAd=a-b, AC =a+b, 4D =2b,

E=2b~a,
9.28 BAMWAIEEEE afub, LM EMR B
PIRM R a+b, a-bs-aljAl.
BRI/ -
HitEE B a+b, a-b 5 -afMk a(® 9.,
KREH: (a+b)+ (a-b)+(-a)=a,
9.24 BCAHLE



